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DIPLOMA IN WATERSHED 
MANAGEMENT (DWM) 

Term-End Examination 

June, 2023 
BNRI-103 : SOIL AND WATER CONSERVATION 

Time : 2 Hours     Maximum Marks : 50 

Note : (i) Attempt any five questions. 

 (ii) All question carry equal marks. 

 (iii) Use of calculator is permitted. 

1. (a) Discuss the main causes of soil erosion. 5 

 (b) What is accelerated erosion ? Discuss its 
effects on agriculture. 2+3 

2. (a) Discuss different forms of water erosion. 5 

 (b) Calculate the erosivity of rainfall storm 
having 4 cm/hr average rainfall intensity 
and 6 cm rainfall depth. The maximum  
30 minutes rainfall intensity is 4 cm/hr.  5 
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3. (a) Explain vertical sand trap. 5 

 (b) What are the agronomical measures to 
control soil erosion ? 5 

4. (a) Find the horizontal interval of bund on a 
land having 4% slope and situated in 
medium rainfall zone. Also calculate the 
length of bunds per hectare. 5 

 (b) Describe staggered contour trenches. 5 

5. (a) Discuss the different points which need to 

be considered before construction of gabion 
retaining wall. 5 

 (b) What is drop spillway ? Enlist its different 
components.  2+3 

6. (a) What is in-situ water harvesting ? Enlist 

any four in-situ water harvesting  
techniques. 1+4 

 (b) What is percolation tank ? For what 
purpose it is used ? 2+3  

7. (a) What is artificial groundwater recharge ? 
Describe its basic concept. 3+2 
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 (b) Calculate the runoff coefficient from a  
160 ha area if the rainfall depth is 20 cm 
during a rainfall event. 5 

8. Explain any four of the following : 4×2.5=10 

 (a) Surface creep 

 (b) Saltation 

 (c) Slip face 

 (d) Gust 

 (e) Drainage 

 (f) Catchment 
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      BNRI-103 

tulaHkj izcU/u esa fMIyksek (Mh-MCY;w-,e-) 

l=kkar ijh{kk 

twu] 2023 

ch-,u-vkj-vkbZ-103 % ènk ,oa ty laj{k.k  

le; % 2 ?k.Vs     vf/dre vad % 50 

uksV % (i) fdUgha ik¡p iz'uksa a ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA  

 (iii) dSydqysVj dk mi;ksx djus dh vuqefr gSA 

1- (d)  ènk vijnu ds izeq[k dkj.kksa dh ppkZ  

dhft,A 5 

 ([k)  Rofjr vijnu D;k gS\ Ñf"k ij blds izHkkokss aa 

dh ppkZ dhft,A 2+3 

2- (d)  ty vijnu ds fofHkUu :ikssa dh ppkZ  

dhft,A 5 
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 ([k)  4 lseh-@?kaVk o"kkZ dh rhozrk vkSj 6 lseh- o"kkZ 

dh xgjkbZ okyh o"kkZ dh ckSNkj dh ty 

vijnu {kerk dh x.kuk dhft,A vf/dre  

30 feuV o"kkZ dh rhozrk 4 lseh- ?kaVk gSA 5 

3- (d)  mnxz ènk tky dh O;k[;k dhft,A  5 

 ([k)  ènk vijnu fu;U=k.k ds lL;foKkuh mik; 

dkSu&ls gSa \ 5 

4- (d)  eè;e o"kkZ okys {ks=k essaa fLFkr 4% <yku okyh 

Hkwfe ij ck¡/ksaa ds {kSfrt varjky dk irk 

yxkb,A lkFk gh izfr gsDVs;j ck¡/ksa dh yEckbZ 

dh x.kuk dhft,A 5 

 ([k)  fopfyr daVwj [kkb;kssa a dk o.kZu dhft,A 5 

5- (d)  xSfc;u vojks/u nhokjkssaa dk fuekZ.k djrs le; 

è;ku j[ks tkus okys fofHkUu fcUnqvksaa a dh ppkZ 

dhft,A 5 

 ([k)  MªkWi fLiyos D;k gS \ blds fofHkUu ?kVdkssaaa dh 

lwph rS;kjh dhft,A 2+3 

6- (d)  Lo&LFkkus ty laxzg.k D;k gS\ fdUgha pkj 

Lo&LFkkus ty laxzg.k rduhdksaa dh lwph rS;kj 

dhft,A 1+4 
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 ([k)  fuPNkyu dqaM D;k gS \ bldk mi;ksx fdl 

mís'; ls fd;k tkrk gS \ 2+3 

7- (d)  Ñf=ke Hkwty iquHkZj.k D;k gS \ bldh ewyHkwr 

vo/kj.kk dk o.kZu dhft,A 3+2  

 ([k)  160 gsDVs;j {ks=k ds viizokg xq.kkad dh ml 

voLFkk esaaa x.kuk dhft,] tc ,d o"kkZ ds 

nkSjku dqy 20 lseh- o"kkZ gksrh gSA  5 

8- fuEufyf[kr esa ls fdUgha pkj dh O;k[;k  

dhft, %   4×2.5=10 

 (d)  ljiQsl Øhi (csM yksM) 

 ([k)  lkYVs'ku 

 (x)  fLyi iQsl 

 (?k)  izpaM ok;q 

 (³)  tyfudklh 

 (p)  izzxzg.k 
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